
 

 

 

1. kwpr slPyt dw rswieixk sUqr hY..... 

1) CuSO4   2) NaOH   3) HCl   4) NaCl 

 

2. CyvIN jmwq dy ividAwrQI ƒ msUiVAW iv~coN KUn vgx dI sm~isAw hY[ fwktr ny ikhw ik ieh 

ivtwimn sI dI kmI dy kwrn huMdw hY [ies ibmwrI ƒ kI ikhw jWdw hY ? 

1) skrvI  2) ig`lVH  3). irkts  4) AMDrwqw 

 

3. cwvl…………dw sroq hY[ 

1) pRotIn   2) kwrbohweIfryts  3) Kixj   4) crbI 

 

4. guV iv~c mOjUd KurwkI q~q jo mnu~KI srIr iv~c hImogloibn dy auqpwdn leI loVINdy hY[ 

1) PwsPors   2) kYlSIAm   3) AwieEfIn   4) Awiern 

 

5. gYivS ny AwlU iv~c stwrc dI mOjUdgI ƒ prKx leI ie~k ivSyS rswieixk GoL dI vrqoN kIqI, 

ijs nwl AwlU dw rMg nIlw-kwlw ho igAw[ vrqy jwx vwly ies ivSyS rswieixk GoL dw nwm kI hY? 

1) kwpr slPyt GoL    2) AwieEfIn GoL  3) sofIAm hweIfRoksweIf GoL  4) nmk dw GoL 

 

6. hyTW id~qy ivtwimnW iv~coN ikhVw ivtwimn Aqy auhnW dI kmI dI ibmwrI ƒ shI FMg nwl joiVAw nhIN 

igAw hY? 

1) ivtwimn ey - AMDrwqw  2) ivtwimn bI – AnImIAw  

3) ivtwimn sI- skrvI   4) ivtwimn fI-irkts 

7. ishqmMd h~fIAW Aqy dMdW leI ikhVw ivtwimn zrUrI hY? 

1) ivtwimn ey   2) ivtwimn sI   3) ivtwimn fI   4) ivtwimn eI 

 

 
iqAwr krqw 

amyS kumwr(iProzpur), sicn kumwr(iProzpur), gurmIq isMG(iProzpur) 
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ivigAwn 

jmwq : 6vIN, (Bojn dy q~q) 



 

8. Bojn iv~c pRotIn dw mu~K kMm kI hY? 

1) aUrjw sroq             2) inrmwx Aqy murMmq  

3) srIr dIAW pRikirAwvW ƒ inXmq krnw   4) pwcn iv~c shwieqw krnw 

 

9. ishqmMd lwl rkqwxUAW leI ikhVw Kixj mh~qvpUrn hY? 

1) Awiern   2) kYlSIAm   3) potwSIAm   4) sofIAm 

 

10. ………… dI Gwt kwrn mYrwsms qr`utI rog huMdw hY? 

1) pRotIn   2) kwrbohweIfryts  3)  1 Aqy 2 dovyN 4) ivtwimn 

 

 

11. kwsitk sofy leI rswieixk PwrmUlw kI hY? 

1) CuSO4   2) NaOH   3) HCl   4) NaCl 

 

12. kwsitk sofy dw rswieixk nwm kI hY ? 

1) kwpr slPyt  2) AwieEfIn   3) sofIAm hweIfRoksweIf  4)iehnW iv~coN koeI nhIN 

 

13. dwlW iv~c Bojn dw ikhVw q~q mOjUd huMdw hY? 

1) pRotIn   2) stwrc   3) crbI   4) kwrbohweIfryts 

 

14. …………nUM srIr rcnwqmk Bojn ikhw jWdw hY? 

1) ivtwimn   2) pRotIn   3) crbI   4) kwrbohweIfryts 

 

15) Qwierwief gRMQI dy shI kMm krn leI ikhVy Kixj dI loV huMdI hY? 

1. AwieEfIn   2. Awiern   3. kYlSIAm   4. PwsPors 

 

 

 
iqAwr krqw 

amyS kumwr(iProzpur), sicn kumwr(iProzpur), gurmIq isMG(iProzpur) 



 

Practice Sheet-1 

 

1. The chemical formula of copper sulphate is...... 

1) CuSO4  2) NaOH  3) HCl  4) NaCl 

 

2. A student of class sixth has problem of bleeding gums. The doctor said that it's due to 

deficiency of vitamin C and this deficiency disease is called....... 

1) Scurvy  2) Goitre   3) Night blindness  4) Rickets 

 

3. Rice are rich source of……. 

1) Protein  2) Carbohydrates 3) Minerals   4) fats 

 

4. The food component that is present in jaggery and it is required for production of 

haemoglobin in human body is……. 

1) Phosphorus     2) Calcium  3) Iodine   4) Iron 

 

5. Gavish used a special chemical solution to test the presence of starch in the potato, 

which turned the colour of the potato blue black. What is the name of this special chemical 

solution used? 

1) Copper sulphate solution   2) Iodine solution 

3) Sodium hydroxide solution   4) All of these 

 

6. Which of the following vitamins and their deficiency disease is NOT correctly paired? 

1) Vitamin A- Night blindness  2) Vitamin B - Anemia  

3) Vitamin C- Scurvy   4) Vitamin D – Rickets 

 

7. Which vitamin is essential for healthy bones and teeth? 

1) Vitamin A  2) Vitamin C  3) Vitamin D  4) Vitamin E 
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8. What is the primary function of protein in food? 

1) Energy source       2) Building and repair   

3) Regulating body processes    4) Aiding digestion 

 

9. Which mineral is crucial for healthy red blood cells? 

1) Iron   2) Calcium     3) Potassium  4) Sodium 

 

10. Marasmus is caused by deficiency of..... 

1) Protein  2) Carbohydrates           3) Both 1 and 2           4) Vitamins 

 

11. Chemical formula for Caustic soda? 

1) CuSO4  2) NaOH  3) HCl  4) NaCl 

12. Chemical name of caustic soda? 

1) Copper sulphate         2) Iodine            3) Sodium Hydroxide           4) None of these 

 

13. Which component of food is present in pulses? 

1) Protein  2) Starch  3) Fat   4) Carbohydrates 

 

14. The body building food is..... 

1) Vitamins  2) Protein  3) Fat    4) Carbohydrates 

 

15. Which mineral is required for proper functioning of thyroid gland? 

1) Iodine      2) Iron                        3) Calcium             4) Phosphorus 
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1. ijhVy jMqU mws nhI KWdy, Bojn leI kyvl pOidAW ‘qy inrBr krdy hn? 

1) mwswhwrI   2) SwkwhwrI   3) srb-AwhwrI  4) auprokq swry 

2. hrmn ny AiDAwpk qoN suixAw ik pOdy Awpxw Bojn Awp iqAwr krdy hn[Aijhy pOidAW ik 

pOidAW nMU kI kihMdy hn[ 

1) pr-poSI   2) imRq-AwhwrI 3) svY-poSI  4) prjIvI 

3. ku`J jMqU mry hoey jIvW nMU Kw ky Awpxw guzwrw krdy hn [Aijhy poSx nMU kI kihMdy hn? 

1) prjIvI poSx  2) imRq-jIvI poSx 3) pRwxIvq poSx 4) koeI nhI 

4. mnu`KI srIr iv`c mOjUd lMbI nlI jo mUMh qoN SurU ho ky gu`dw q`k jWdI hY[ 

1) Bojn nlI  2) CotI AWdr  3) v`fI AWdr  4) imhdw 

5. AiDAwpk ny jmwq ivc̀ ikirAw dOrwn aubly hoey cwvlW ‘qy jdoN AwieEfIn dw Gol pwieAw 

igAw qwN iesdy rMg ivc̀ kI pirvrqn AwieAw[ 

1) jwmxI jW nIlw  2) nIlw jW kwlw 3) jwmxI jW kwlw 4) Lwl jW nIlw 

6. aubly hoey cwvl nUM mMUh iv`c cbwaux Aqy lwr dy iml jwx nwl stwrc iks iv`c bdl jWdw hY? 

1) AwieEfIn  2) gulUkoz  3) pRotIn  4) koeI &rk nhIN pYNdw 

7. swfy srIr iv`c sB qo s^q pdwrQ ikhVw hY? 

1) p`t dI h`fI  2) ienYml  3) rIV dI h`fI  4) KopVI 

8. imhdy dIAW AMdrlIAw prqW iks dw irswv krdIAwN hn? 

1) hwrIfRokloirk AYisf 2) pwck rs  3) imauks 4) auprokq swry 

 

pRYkits SIt – 1 

ivigAwn 

jmwq : 7vIN, (pOidAW iv`c poSx, jMquAW iv`c poSx) 

ivigAwn , pMjwbI mwiDAm 

iqAwr krqw 

hrismrn isMG (bMiTfw), hrjIq isMG(bMiTfw), nyhw grg (bMiTfw) 



 

9. imhdy dy hyTW siQq pIlI BuUry rMg Aqy p`qy dy Awkwr dI gRQI dw nwm ilKo[ 

1) CotI AWdr   2) Lu`bw   3) ijgr  4) v`fI AWdr 

10. qusIN Gwh Kwx vwly jIvw nMU jugwlI krdy vyiKAw hovygw[ iehnwN jMqUAW dw imhdw ikMnyN KwinAW 

iv`c vMifAW huMdw hY? 

1) cwr   2) iqMn   3) do   4) ie`k 

11. Bojn pRwpq krn dI ikirAw dy v`K-v`K pVwA nUM shI krn dI cox kro: 

1) Bojn gRihx   pwcn   svYAMgIkrn   soKx    inkws 

2) Bojn gRihx  pwcn  soKx  svYAMgIkrn   inkws 

3) Bojn gRihx   pwcn   inkws   svYAMgIkrn   soKx 

4) Bojn gRihx  soKx  svYAMgIkrn  pwcn    inkws 

12. k`lH jmwq iv`c jIvW bwry d`sdy myry AiDAwpk jI ny mYnUM ie`k Aijhy jIv bwry d`isAw jo svY-

poSx Aqy pr-poSx dovy kr skdw hy[ auh ikhVw jIv hY? 

1) rweIzobIAm  2) XUglInw  3) Amrvyl  4) KuMB 

13. aus hry vrxk dw kI nwm hY jo pRkwS sMslySx ikirAw dOrwn sUrjI aUrjw soKdw hY? 

1) kloroiPl   2) Poloiem  3) zwielm  4) stomYtw  

14. swfy srIr dI sB qoN v`fI gRQI ikhVI hY Aqy auh ikhVy rs dw irswv krdI hY? 

1)  ijgr, ijgr rs 2) ijgr, ip`qw rs 3) lu`bw, lu`bw rs 4) CotI AWdr, AWdr rs 

15. swfy ipMf c`k mYN keI pOidAw qy DwigAW vrgIAW vylW vyKIAW hn ijsny pOdy nUM pUrI qrHW F`k 

ilAw hY[  mYnUM d`so aus dw kI nwm hY? 

1) mtr dI vyl  2) lweIkyn  3) Amrvyl  4) mnI plWt 

 iqAwr krqw 

hrismrn isMG (bMiTfw), hrjIq isMG(bMiTfw), nyhw grg (bMiTfw) 



 

 

 

1. The animals which depend only on plants are known as: 

1) Carnivores   2) Herbivores 3) Omnivores  4) All of the 

above 
 

2. Harman heard from his teacher that plants prepare their own food. These plants are 

known as: 

1) Heterotrophs  2) Saprotrophs 3) Autotrophs  4) parasitic   
 

3. Some animals live on dead animals for their food. What kind of nutrition is this? 

1) Parasitic nutrition  2) Saprophytic nutrition 3) Holozoic nutrition  4) None 

of these 
 

4. Name the longest canal present in human body that extends from mouth to anus: 

1) Alimentary canal  2) Small intestine 3) Large intestine 4) Stomach 
 

5. While performing an activity in class, teacher used iodine solution on boiled rice. 

Which colour is observed by the students on boiled rice? 

1) Purple or Blue  2) Blue or Black 3) Purple or Black 4) red or Blue 

 

6. When boiled rice is chewed in mouth it mixes with saliva, then starch changes into: 

1) Iodine   2) Glucose  3) Protein   4) No change 

7. Which is the hardest known substance in our body? 

1) Thigh bone  2) Enamel  3) Backbone  4) Skull 
 

8. The inner lining of stomach secretes which kind of juices? 

1) Hydrochloric acid 2) Digestive juice 3) Mucous  4) All of the above 
 

9. Name the large cream coloured leaf like gland which is located just below the 

stomach. 

1) Small intestine  2) Pancreas  3) Liver    4) gall bladder  
 

10.  You have observed that grass eating animals are continuously chewing even when 

they are not eating. The stomach of these animals is divided into how many parts ?  

1) Four   2) Three  3) two   4) One 
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11. Arrange the various steps of obtaining food in correct order: 

1) Ingestion  Digestion    Assimilation  Absorption 

 Excretion 

2) Ingestion  Digestion     Assimilation   Absorption  

 Excretion 

3) Ingestion  Digestion  Excretion  Assimilation 

 Absorption 

4) Ingestion Absorption   Assimilation  Digestion  

 Excretion 
 

12. Yesterday my teacher asked about some organisms which are both autotropic as 

well as heterotrophic. Name the organism. 

1) Rhizobium   2) Euglena   3) Cuscuta  4) Mushroom 
 

13. Name the green pigment which captures the energy of sunlight during 

photosynthesis. 

1) Chlorophyll   2) Phloem   3) Xylem   4) Stomata 
 

14. Which is the largest gland in our body and which kind juice it secretes? 

1) Liver, Liver Juice 2) Liver, bile juice  3) Pancreas, pancreatic juice 

4) Small intestine, intestinal juice 
 

15. In our village I saw climbers which have thread like branches and covered the whole 

plant.  Can you name the climber? 

1) Pea plant   2) Lichen  3) Cuscuta  4) Money plant 
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1. sMjIv dy ipqw jI Kyq iv`coN Axcwhy pOidAW nUM k`F rhy sn[ieh vyK ky sMjIv ny pu`iCAw ik ies pRikirAw nUM kI 

ikhw jWdw hY? ausdy ipqw jI ny kI jvwb id`qw hovygw? 

1) ktweI  2) isMcweI 3) CtweI 4) ndIn k`Fxw 

2. hyT iliKAW iv`coN ikhVI ie`k rbI &sl hY? 

1) soieAwbIn  2) sroHN  3) m`kI  4) mMUgPlI 

3. KrIP dIAW &slW iks mhIny iv`c augweIAW jWdIAW hn? 

1) jnvrI-PrvrI 2) sMqbr-AkqUbr 3) meI-jUn 4) nMvbr-dsMbr 

4. PwlIAW (Cultivators) dI vrqoN ……………… leI kIqI jWdI hY[ 

1) hl vwhux  2) isMcweI   3) ktweI 4) BMfwrx  

5. iC`tw dyxw ………………… dI ie`k ivDI hY [ 

1) isMcweI  2) bIj bIjx  3) ktweI 4) ndIn k`Fx 

6. hyT iliKAW iv`coN iks &sl nUM nweItRojn BrpUr KwdW dI jrUrq nhIN huMdI? 

1) dwlW  2) cwvl  3) kpwh 4) kxk 

7. CtweI dI pRikirAw …………… dI shwieqw nwl kIqI jWdI hY[ 

1) pwxI  2) im`tI   3) kMpost 4) hvw 

8. hyT iliKAW iv`coN ikhVI isMcweI pRxwlI Asmwn zmIn leI sB qoN Fu`kvIN hY? 

1) qupkw pRxwlI 2) FyklI 3) Puhwrw pRxwlI 4) iGrnI 

9. &lIdwr &slW zmIn iv`c iks q`q dI purqI krdI hY? 

pRYkits SIt –1 
ivigAwn 

jmwq : 8vIN(Psl auqpwdn Aqy pRbMDn) 
 

iqAwr krqw 

nryS Srmw (Pwizlkw), sMjIv jwKV(Pwizlkw), gopwl ikRSn (Pwizlkw) 



 

1) nweItRojn  2) PwsPors 3) potwSIAm  4) klorIn 

10. hyT iliKAW iv`coN ikhVw ie`k bhumwqrI poSk q`q nhIN hY? 

1) kwrbn  2) potwSIAm  3) klorIn 4) AwksIjn 

11. dwixAW nUM kItW Aqy sUKmjIvW qoN bcwaux leI iks pOdy dy pìqAW dI vrqoN kIqI jWdI hY? 

1) kylw  2) inMm   3) ip`pl 4) AMb 

12. im`tI nUM pltx Aqy polw krx dI pRikirAw nUM kI ikhw jWdw hY? 

1) hl vwhuxw  2) ktweI  3) Kwd imlwauxw 4) CtweI 

13. hyT iliKAW iv`coN ikhVw kQn rswieixk KwdW dy sMbD iv`c shI nhIN hY? 

1) iehnW nUM kwrKwinAW iv`c iqAwr kIqw jWdw hY[ 

2) ieh Du`p jW mINh iv`c Krwb ho jWdI hY[ 

3) Kws poSk q`q BrpUr KwdW iv`c ivSys poSk q`q BrpUr mwqrw iv`c huMdy hn[ 

4) ieh BUmI nUM m`lHV pRdwn krdIAW hn[ 

14. &slW iv`c au`lI nUM ikhVy rswiexW nwl inXMiqRq kIqw jWdw hY? 

1) ndIn nwSk 2) rswieixk Kwd 3) jIvwxUnwSk  4) a`ulInwSk 

15. hyT iliKAW iv`coN ikhVI ivDI duAwrw dwixAW dy Fyr iv`coN ishqmMd Aqy puMgrx dy kwbl bIjW nUM v`K kIqw jw 

skdw hY? 

1) dwixAW dy Bwr dI jWc kr ky  2) CykW leI sUrj dI roSnI hyT dwixAW nUM jWc ky 

3) bIjW nUM bIj ky puMgrx dI aufIk krky 4) dwixAW nUM pwxI iv`c pw ky 
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1. Sanjeev’s father was removing unwanted plants from his field. Seeing this Sanjeev 

asked, what is this process called? What would be his father’s answer? 

1) Harvesting  2) Irrigation 3) Winnowing 4) Weeding 

2. Which out of the following is a Rabi crop? 

1) Soya bean  2) Mustard 3) Maize 4) Groundnut 

3. In which month Kharif crops are cultivated? 

1) Jan-Feb  2) Sept-Oct 3) May-June 4) Nov-Dec 

4. Cultivators are used for: 

1) Ploughing  2) Irrigation  3) Harvesting  4) Storage 

5. Broadcasting is a method of 

1) Irrigation   2) Sowing of seed 3) Harvesting  4) Weeding 

6. Which one of the following crops does not require nitrogenous fertilizers? 

1) Beans  2) Paddy  3) Cotton  4) Wheat 

7. Winnowing is done with the help of……… 

1) Water  2) Soil   3) Compost  4) Wind 

8. Which of the following system of irrigation is most suitable for uneven land? 

1) Drip  2) Dhekli  3) Sprinkler  4) Moat 

9. Leguminous crops enrich the soil with ……………… 

1) Nitrogen  2) Phosphorous 3) Potassium  4) Chlorine 
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10. Out of the following which is not a macronutrient? 

1) Carbon   2) Potassium  3) Chlorine 4) Oxygen  

11. Leaves of which plant are used to protect grains from insects and microorganisms? 

1) Banana  2) Neem  3) Peepal 4) Mango 

12. The process of loosening and turning of the soil is called ……………… 

1) Ploughing  2) Harvesting  3) Manuring  4) Winnowing 

13. Out of the following statements which one is incorrect regarding chemical fertilizers? 

1) These are prepared in factories. 2) They get spoiled in excess heat of sun or rain. 

3) Nutrient specific fertilizers contain the respective nutrient in a large quantity. 

4) It provides humus to the soil. 

14. Fungi in crops is controlled by the chemicals called …….. 

1) Weedicides 2) Fertilizer  3) Bactericide  4) Fungicides 

15. Which of the following method can be used to separate healthy and viable seeds from a 

heap of grains? 

1) Checking the weight of grains  2) Checking the grains under sunlight for pores 

3) Sowing seeds and waiting for germination 4) Immersing the grains in water  
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1. jdoN KMf pwxI iv~c Gul jWdI hY, KMf dy kx: 

1) pUrI qrHW Alop ho jWdy hn    2) Kqm ho  jWdy hn   

3) pwxI dy kxW dy ivckwr KwlI QW ƒ Brdy hn  4) hyTW v~l jWdy hn   

2. kmry iv~c ie`qr dI mihk PYlx dw kI kwrn hY? 

1) hvw Aqy ie`qr dy kx siQr hn     2) hvw Aqy ie`qr dy kx byqrqIby FMg nwl cldy hn 

3) ie`qr dy kx hvw dy kxW nwloN BwrI huMdy hn  4) hvw dy kx ie`qr dy kxW ƒ dUr krdy hn 

3. hyTW id~qy iv~coN ikhVw pwxI iv~c isAwhI dI ie~k bUMd dy PYlx dI ivAwiKAw krdw hY? 

1) pdwrQ dy kxW dy ivckwr v~fI QW huMdI hY  2) pdwrQ dy kx hmySw gqI iv~c huMdy hn 

3) pdwrQ dy kx s^q huMdy hn  4) pdwrQ dy kxW ivckwr AwkrSx bl v~D huMdw hY 

4. hyT ilKy iv~coN ikhVw pdwrQ dy kxW dI ivSySqw nhIN hY? 

1) auhnW dy ivckwr KwlI QWvW hn    2) auh inrMqr gqI iv~c hn 

3) auh ie~k dUjy ƒ AwkriSq krdy hn   4) auh dUjy pdwrQW nwl nhIN imldy 

5. inmnilKq iv~coN ikhVw ie~k Tos kwrbn fweIAwksweIf (su~kI br&) au~qy G~tdy dbwA dy pRBwv dw 
vrxn krdw hY? 

1) ieh qrl kwrbn fweIAwksweIf iv~c ipGl jWdw hY  

2) ieh Tos kwrbn fweIAwksweIf dy rUp iv~c rihMdw hY 

3) ieh kwrbn fweIAwksweIf gYs iv~c bdl jWdw hY  

4) ieh s^q Tos iv~c jMm jWdw hY 

6. inmnilKq iv~coN ikhVw sB qoN vDIAw vrxn krdw hY ik jdoN ie~k gYs ƒ lgwqwr dbwA 'qy TMFw 
kIqw jWdw hY qW kI huMdw hY? 

1) ieh PYldw hY 2) ieh suMgVdw hY 3) ieh ie~k Tos iv~c bdl jWdw hY 4) ieh ie~k qrl iv~c bdl 
jWdw hY 

7. iksy pdwrQ iv~c kxW dI gqI au~qy qwpmwn ƒ Gtwaux dw kI pRBwv huMdw hY? 

1) kx qyzI nwl cldy hn 2) kx hOlI cldy hn 3) kx ihldy nhIN hn  4) kx Awkwr ivc v`Ddy hn 

 

pRYkits SIt –1 

ivigAwn 

jmwq : 9vIN(swfy Awly duAwly dy pdwrQ) 
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hrjIq kumwr (jlMDr), dlIp kumwr (jlMDr), rvI kumwr (jlMDr) 



 

8. ikhVw Sbd iksy vsqU iv~c pdwrQ dI mwqrw dw vrxn krdw hY? 

1) Gxqw    2) Awieqn   3) puMj     4) Bwr 

9. jdoN qwpmwn vDdw hY qW pdwrQ dI siQqI dw kI huMdw hY? 

1) Tos is~Dy gYsW iv~c bdldy hn  2) Tos qrl pdwrQW iv~c Aqy qrl gYsW iv~c bdldy hn 

3) qrl pdwrQW iv~c bdldy hn 4) gYsW qrl iv~c bdl jWdIAW hn 

10. hyT ilKIAW pRikirAwvW iv~coN ikhVIAW pRikirAwvW iv~c qrl AvsQw iv~coN lMGy ibnW ie~k Tos dw 
is~Dw gYs iv~c bdlxw Swml hY? 

1) sMGxn    2) ipGlxw   3) jOhr aufwauxw   4) jMmxw 

11. hyT ilKIAW iv~coN ikhVIAW siQqIAW vwSpIkrn dI dr ƒ vDw skdIAW hn? 

1) au~c nmI   2) G~t qwpmwn  3) sqh Kyqr dw Gtxw  4) hvw dI gqI dw vDxw 

12. vwSpIkrn TMFw hox dw kwrn bxdw hY ikauNik: 

1) ieh Awly duAwly dI grmI ƒ soK lYNdw hY  2) ieh Awly duAwly dI grmI ƒ jwrI krdw hY 

3) ieh Awly duAwly dy qwpmwn ƒ nhIN bdldw 4) ieh qrl dy AMdr grmI pYdw krdw hY 

13. grm su~ky idn ie~k mwrUQl kUlr vDIAw TMfw ikauN huMdw hY? 

1) au~c nmI dy kwrn     2) G~t qwpmwn dy kwrn 

3) ikauNik vwSpIkrn dI dr v~D hY   4) ikauNik koeI hvw nhIN cl rhI huMdI 

14. jdoN AsIN psInw vhwauNdy hW qW swƒ TMfw ikauN l~gdw hY? 

1) psInw Awaux nwl srIr dw qwpmwn vD jWdw hY 

2) psIny dw vwSpIkrn swfy srIr iv~coN grmI ƒ soK lYNdw hY 

3) psInw Awaux nwl srIr dw qwpmwn is~Dw Gtdw hY 

4) psInw sUrj dI rOSnI ƒ swfI cmVI q~k phuMcx qoN rokdw hY 

15. hyTW id~qy iv~coN ikhVw vwSpIkrn dw aupXog hY? 

1) jl vwSp dw sMGxn     2) qRyl dw gTn 

3) im~tI dy GVy iv~c pwxI ƒ TMfw krnw   4) br& dw ipGlxw 
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1. When sugar is dissolved in water, the particles of sugar: 

1) Disappear completely     2) Get destroyed 

3) Fill the spaces between water particles  4) Move to the bottom 

2. What causes the spreading of smell of perfume in a room? 

1) Particles of air and perfume are static    2) Particles of air and perfume move randomly 

3) Perfume particles are heavier than air particles 4) Air particles repel perfume particles 

3. Which of the following explains the diffusion of a drop of ink in water? 

1) Particles of matter have large spaces between them 

2) Particles of matter are always in motion 

3) Particles of matter are rigid 

4) Particles of matter are held by strong forces of attraction 

4. Which of the following is not a characteristic of particles of matter? 

1) They have spaces between them  2) They are in constant motion 

3) They attract each other    4) They do not mix with other substances 

5. Which of the following describes the effect of decreasing pressure on a solid carbon 

dioxide (dry ice)? 

1) It melts into liquid carbon dioxide  2) It remains as solid carbon dioxide 

3) It sublimates into carbon dioxide gas  4) It freezes into harder solid 

6. Which of the following best describes what happens when a gas is cooled at constant 

pressure? 

1) It expands   2) It contracts 3) It turns into a solid 4) It changes to a liquid 

7. What is the effect of reducing the temperature on the motion of particles in a substance? 

1) Particles move faster    2) Particles move slower 

3) Particles do not move    4) Particles increase in size 

Practice Sheet-1 

Science 

Class-9th (Matter Around Us) 

Prepared By 

Harjit Kumar (Jalandhar), Dalip Kumar (Jalandhar), Ravi Kumar (Jalandhar) 



 

8. Which term describes the amount of matter in an object? 

1) Density   2) Volume   3) Mass  4) Weight 

9. What happens to the state of matter when the temperature is increased? 

1) Solids turn into gases directly  2) Solids turn into liquids, and liquids turn into 

gases 

3) Liquids turn into solids   4) Gases turn into liquids 

10.Which of the following processes involves the change of a solid directly to a gas without 

passing through the liquid state? 

1) Condensation  2) Melting  3) Sublimation  4) Freezing 

11.Which of the following conditions will increase the rate of evaporation? 

1) High humidity 2) Low temperature 3) Decreasing surface area 4) Increasing wind speed 

12. Evaporation causes cooling because: 

1) It absorbs heat from the surroundings  2) It releases heat to the surroundings 

3) It does not change the temperature of the surroundings 

4) It generates heat within the liquid 

13. Why does a desert cooler cool better on a hot dry day? 

1) Because of the high humidity   2) Because of the low temperature 

3) Because the rate of evaporation is higher 4) Because there is no wind 

14. Why do we feel cool when we sweat? 

1) Sweating increases body temperature 2) Evaporation of sweat absorbs heat from our 

body 3) Sweating reduces body temperature directly 4. Sweat blocks sunlight from 

reaching our skin 

15. Which of the following is an application of evaporation? 

1) Condensation of water vapor    2) Formation of dew 

3) Cooling of water in an earthen pot   4) Melting of ice 
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1. hyTW id~qy iv~coN ikhVI pRkwS dI ivSySqw hY? 

1) ieh ie~k is~DI lweIn iv~c Xwqrw krdw hY[  2) iesdw prwvrqn ho skdw hY[ 

3) ies dw Apvrqn ho skdw hY[   4) auprokq swry[ 

 

2. lYNz dI SkqI dI AYs.AweI iekweI kI huMdI hY? 

1) mItr  2) sm  3) fwieEptr  4) vwt 

 

3. pRkwS dy hyTW id~qy rMgW iv~coN ikhVy rMg dI qrMg lMbweI sB qoN izAwdw hY? 

1) Lwl 2) hrw  3) nIlw 4) jwmxI 

 

4. ie~k lYNs jo iknwirAW nwloN m~D iv~c motw huMdw hY ƒ ikhw jWdw hY: 

1) Avql lY`nz 2) au`ql lY`nz  3) smql lY`nz 4) islMfrIkl lY`nz 

 

5. id`qw igAw drpx aus vsqU dy Akwr dw aultw pRqIibMb bxwauNdw hY[drpx ikhVw hovygw? 

1) au`ql 2) Avql 3) smql 4) auprokq swry 

 

6. nweI vwl k`tx smyN iksy ivAkqI dw is`Dw Aqy v`fw pRqIibMb vyKxw cwhuMdw hY, auh AwpxI dukwn 

iv`c iks qrwN dw drpx iesqymwl krygw ? 

1) au`ql 2) Avql  3) smql 4) auprokq swry  

7. Avqwr dy dMdW iv`c pIV hox qy fwktr ny ie`k drpx rwhIN aus dy dMdW dw muAwienw 

kIqw[fwktr v`loN ikhVw drpx aupXog kIqw igAw ? 

1) au`ql 2) Avql  3) smql  4) auprokq swry 
8. AiDAwpk ny klws iv`c A`j ividAwrQIAW nUM drpx PwrmUly bwry d`isAw [drpx PwrmUlw iks 

drpx leI iesqymwl huMdw hY ? 

1) au`ql 2) Avql 3) smql 4) auprokq swry 
 
 

pRYkits SIt –1 
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9. smql drpx iks qrHW dw pRqIibMb bxwauNdw hY ? 

1) ABwsI Aqy is`Dw 2) vsqU dy Akwr dy brwbr 3) pwsvW prwvriqq    4) auprokq swry  
 

10. hYpI koloN ie`k is`kw pwxI nwl Bry iglws iv`c if`g igAw hY[ hYpI not krdw hY ik is`kw au`iTAw 

pRqIq huMdw hY[ Aijhw iks kwrn huMdw hY ? 

1) prwvrqn kwrn      2) Apvrqn kwrn 3) vrx ivKypx kwrn 4) auprokq iv`coN koeI nhIN 
 

11. AiDAwpk ny A`j dìsAw ik ie`k Aijhw drpx hY ijs qoN qusIN ikMnI vI dUrI au`qy KVHy hovo, 

quhwfw pRqIibMb hmySw is`Dw Aqy Coty Akwr dw pRqIq huMdw hY[drpx ikhVw hY ? 

1) au`ql   2) Avql  3) smql  4) auprokq swry 
 

12. kwr iv`c sPr kridAW rmyS ny vyiKAw ik ip`Cy dI AwvwjweI vyKx leI vrqy jwx vwly drpx 

iv`c bhuq v`fy Kyqr nUM vyiKAw jw skdw hY[ieh drpx ikhVw hY ? 

1) au`ql   2) Avql  3) smql  4) auprokq swry 
 

13. vhIkl iv`c ip`Cy dw tRYiPk vyKx leI iks drpx dw aupXog kIqw jWdw hY? 

1) au~ql drpx 2) Avql drpx 3) donoN drpx  4) koeI nhIN 
 

14. smql drpx dI Poks dUrI ikMnI huMdI hY? 

1) 5 sm  2) 10 sm  3) 0 sm  4) AnMq 
 

15. mnu`KI A~K iv`c ikhVw lYNz huMdw hY? 

1) au~ql lYNz 2) Avql lYNz  3) donoN lYNz  4) iehnW ivcoN koeI nhIN 
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1. Which of the following is a property of light? 

1) It travels in a straight line  2) It can be reflected 

3) It can be refracted   4) All of the above 

 

2. What is the SI unit of power of lens? 

1) Meter  2) Centimeter 3) Dioptre 4) Watt 

 

3. Which of the following colors of light has the highest wavelength? 

1) Red  2) Green  3) Blue  4) Violet 

 

4. A lens that is thicker in the middle than at the edges is called: 

1) Concave lens 2) Convex lens 3) Plane lens  4) Cylindrical lens 

 

5. The given mirror forms an inverted image of the object. Which type of mirror it can 

be? 

1) Convex 2) Concave  3) Plane 4) All of the above 

 

6. The barber wants to see the enlarged and erect image of the person. Which type of 

mirror will he use in his shop? 

1) Convex 2) Concave  3) Plane   4) All of the above 

 

7. While examining Avtar’s toothache, the doctor used a mirror. Which mirror was 

used by the doctor? 

1) Convex    2) Concave  3) Plane      4) All of the above 

 

8. The teacher told about mirror formula in the class today. Mirror formula is used for 

which type of mirror? 

1) Convex  2) Concave  3) Plane     4) All of the above 
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9. What type of image is formed by a plane mirror? 

1) Virtual and erect   2) Same size as object  

3) Lateral inversion   4) All the above are correct 

 

10. A coin got dropped by Happy in a glass full of water. Happy observed that the coin 

appears to be raised. It happens due to: 

1) Reflection    2) Refraction   

3) Dispersion of light   4) None of these 

 

11. Today teacher told that there is a mirror in which at whatever distance you are 

standing, your image formed  will always be erect and small. The type of mirror is: 

1) Convex    2) Concave   

3) Plane     4) All of these 

 

12. While travelling in a car, Ramesh noticed the mirror used to view the back traffic, 

gives a wider area of view. The type of mirror is: 

1) Convex 2) Concave  3) Plane  4) All of these 

 

13. Which mirror is used as a rear view mirror in vehicles? 

1) Convex Mirror 2) Concave Mirror   

3) Both Mirrors  4) None of these 

 

14. What is the focal length of plane mirror? 

1) 5 cm  2) 10cm 3) 0 cm  4) Infinite 

 

15. Which lens is present in human eye? 

1) Convex Lens    2) Concave Lens  

3) Both Lenses     4) None of these 
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